Indefinite Integration - Homework
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19. f30(5)sx dx 20. f(1—6cosx) dx 21. f(iz—sinx) dx
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Solve the following differential equations.

25. f"(x)=2,f'(1)=4,f(2)=-2 26. f"(x)=2xf'(2)=-1f(3) =1

f(x)=[(x*-5)dx
f’(x)=f2dx f(x)=f(2x+2)dx f(x)= f2xdx ) f3( )

x
fl(x)=2x+C f(x)=x’+2x+C, fl(x)=x*+C f(x)=?—5x+C2
f’(1)=2+Cl=4 f(2 =4+4+C,=-2 (2) 4+C =-1 f(3 =9-15+C, =
C =2 C,=-10 C =-5 C,=7
fl(x)=2x+2 f(x)=x*+2x-10 f(x)=x*-5 f(x)=x_3_5x+7
27, f'(x) == S () =25 (0) =1 28. f(x)=cosx,f () =2, ()

x
0o ‘—23 f(x)=f(—2x_2+3)dx
f(x)—fx_ dx f(x)= fcosx dx f(x)=f(sinx+2) dx
F(x)=-2x2+C| |f(x)=—4x2+3x+C, f'(x)=sinx+C, f(x)=-cosx+2x+C,
f'(2)=-1+C =2| |f(0)=0+C, =1 fl(@)=0+C =2 f(m)=1+2n+C,=-1
C =3 C, =1 C =2 C,=-2-2n
f(x)= —2x_71 +3 | |f(x)= —4x12 +3x+1 filx)=sinx+2 f(x)=—cosx+2x-2-2n
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